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Write short answers to any SIX parts. i ‘:H.‘U’ CrIZl{a-Jf -2
Somve the eguation 3y" = yly ~ 5) by factorization. ,.:_{Jd)f"_i,;.iji =y(y=5) et (D)
Write in standard form: "\__],?‘.\_1:1_1 xid 4--;{—{—4=] s 2 P et (i)
Define radical equation, .g.&f..e }J.:uudd_» (i)
Find discriminant 5% +3x +3=0 ' %2 s3x+5=0 :._é’rsl";ﬂﬁ) (iv)
Iivallunle: {l=3w- 30°) {1=3m -3y :._:’Erﬂ"'.:-f (v
Iorm a quadratic equation with routs 3 and . < 4 3 (Roots) Pulst elbienlaZon (i)
Define ratio. i P fe (vi)
Find the third proportional to P E: -*f._»w.gm,{r 32l (il
Find p, if 12, pand 3 are in continned proportiomn. ‘.g‘:'r:h’ P ?ur:.,'ih_.-'ti‘v‘"‘" 3ap.i2 A G0
Write short answers to any SIX parts. .ﬁca[!x/*&,lm{.g_df |
Define rational fraetion, *e{-i_'f—‘d:/\j' E @

APy (;“_%EIE) ";f}:i *T’?E A G

Sx=4 A 13
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3 find the values.of A nnd B,

Ee XUY P Y= (24,5, 9) m X = {147, 914 Gii)
X =41,4,7,9} and Y = (2.4, 5,9} then find XUY .
ekt XY P Y= (812 M X R 208 G
WX =42 4600 20)and Y= (4.8, 12, ... 24) then find X = Y.
Find 2 and b.if (a—-4,b=2)=(2 1) - A b-=2 DA b (V)
S Lx M b {d,e L gh ot L= boel (vid
If L= {4, b,cy and M= {d, e [ g} then find two binary relations in L » M.

Define u subset and give un example. Eafdedinda Fderd (i)
Find the arithmetic mean: 202 . 225, 350, 375,270 . 320 . 283 :ér;‘*'k-»l;_;vtvii%}
Define median. .gf:'.“yidgm-s (ix)
Werite short answers to any SIX parts. .écaa!,i.ﬂ;* Lzt 44-_.&/ -
Defin: dogree. LS
Convest %‘%’1 into degree. Ll LS I‘.-!:!:- (i)
g ; L i i G e b
Find r, when £=4cm , © o radian B--s-q-.-(_a.- f = dem —-?ﬁ":rr"‘ r (i)
Simplify: tan'0+ an’ 9 wn' Qe tan’® 1A G
Define sector of the circle, FaFSELem W)
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Differentiate between minor are and major are of a circle. NI AST A mg gt gkl (vid
Define cyclic quadrilateral. -é—é‘,”&fﬂdg_’% (yiid
Tt gy g P i
Eph s WS LS F G G

e lenpth af each side of a regulir octagon is 3em, Measure its perimeter.

~e$i 9 /-":L)'!’—.,Sﬁ} 08 ﬁJ’r_/;-g“:.;jl"al,lﬁLaUlruE r.:.fdf-ﬁ::._-"
part - 1, Attempt any THREE questions. Each question carvies 08 marks,
Question No. Y is compulsory

Solve the cquation: @:TO_E -x=4 V3x+100 —x =4 éd’ fahls () .5

e 182 AL e ()
The product of two positive conseentive numbers is 182. Find the numbers.

e B FE e €T T m -3, 280 6
Find the value of the letter involved in the 7, m = 3, 28 continued proportion.

Resolve into partial fractions ol ———ll?—lil—-— ___‘_’}5.#_#;';““’, -,,v'la/ bz (L)
(x+3)(x° +1) (x4 3)(x +1) '

(AUBY=A'NB ZedinB=12 3.5 7 A={L.3.5.7.9) U= {1, 2. 3..... oS 27
HU={1.2.3,,.., 10}, A=11,3,5 7.9}, B={2.3,5.7) then verity (AUBY =AY

5 1 Ay 11500, 12400, 15000, 14500, 14800 (LA F dafigl )
The galaries of five teachers in Rupeces are as 11500, 12400, 15000, 14500, 14800. Find
standard deviation.

S Rt TR : -12 .
.,.._-.‘::pl"w{ JJ'E’GEJ‘ Ot s cos0 >0 stginl = - 1}3— Jien) .8

II'sin@ = ilg—zzmd cos0> 0. Find the remaining trigonometric funstions.,

_.'.'{_:-'-f;,,"!f.r}ﬁ';.sﬁul_‘ﬁ-‘;r‘— 4173 v"b;...’:._',-;il,-;f__;:i'_)e’ n (=)
Draw two common langents to two intersecting circles of radii 3cm and dein,

-.:'...l:c;:‘rr}h«.é]h.;f’;!'d;’?;—bﬁ:f,c; g’-r.r.s‘i‘: T
Prove that one and only one circle can pass thmu'gh three non=collinear points,
s OR | wwe
..ci..t‘:ﬂ:f::.:—,::liuj f.:a,:'-'/ WIS Ve :JU[S,"(/ Uh.&_..;..s,é".,'} ._,E'-'a_..}:uojf g’,.!.'-_'..:.;.“
Prove that the measure of & central angle of a minor are of circle. is double that of the angle
subtended by the corresponding major arc.
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